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D5(x+4)+1=—-4(1-5x)

@ 2x—9(1—2x) = —33

(3 —52=4(1+8x)

@20+11x)+x=—7(x+3)—2

® —4(2-5x)=—-3+5(x—8)

©51=—2x—5(x+1)

@ —3(x—1)=5(1—2x)—x

®2(Tx—1)+x=2+7(x+4)
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© —9=x+3(1+x)

39=-3(x—1)—x

W4(1—4x) —x=1+50—x)

@ —1=5@x+1)+3x




107K

ks M 4 i

B RO EFE T,

D5(x+4)+1=—-4(1-5x)
5x+21=—4+20x
5x—20x=—4—-21

—15x=—125

@ 2x—9(1—2x) = —33

—9+4+20x=-—33
20x=-—33+9
20x=—24

5x=—6
__06
x 5

(3 —52=4(1+8x)
—52=4+32x
—32x=4+52
—32x =56
4x=—7

__ 7
x 4

@20 +11x) +x=—7(x+3)—2
2+23x=—T7Tx—23
23x+7Tx=—23-2
30x=—25
6x=—5

__5
* 6

® —4(2—5x)=—3+5(x—8)
—8+20x =5x—43

20x—5x=—43+8

15x=—35
3x=—7

__

* 3

©51=—2x—5(x+1)

51=—=7x—5

7x=—5—51

7x=—56
x=-—38

@ —3(x—1)=5(1—2x)—x
—3x+3=5—11x

—3x+11x=5—3

®2(Tx—1)+x=2+7(x+4)
15x—2=7x+30
15x—7x=30+2
8x =32

x=4

/12

©® —9=x+3(1+x)
—9=3+4x
—4x=3+9
—4x =12

x=-—3

39=-3(x—1)—x

39=—4x+3

4x=3-39

4x =—36
x=-9

W4(1—4x) —x=1+50—x)
4—17x=46—5x
—17x+5x=46—4
—12x=42
2x=—7

__ T
x 2

@ —1=5@x+1)+3x
—1=18x+5
—18x=5+1
—18x=6
3x=—1

__ 1
* 3




